120 WWO—-2U-Hv7 ( 3-4 SEOH )
AN—bk COZIVK BIX\—bk D972 K
3EREJA ER I | IEf =[] =5 | IEf
BEFF |- 4 30 70 BIF 5] oo 50 110
A % 20 10 30 A % 0 5 5
= 20 20 40 = 60 45 105
BIFEA B |IBf A i |IRf
R | = 40 10 50 = I 15 35 50
A % 20 60 80 A % 40 30 70
= 20 -50 -30 = -25 5 -20
ERA &Rk | IEfz = I =R | IEfE
HME | & oo 85 145 HfE | & 0 40 40
A % 10 0 10 RS | & 60 15 75
= 50 85 135 = -60 25 -35
AIRTA it [ e el =% BEEEE
I | = 30 0 30 s i 5 30 35
RS | % 10 85 95 % 50 35 85
= 20 -85 -65 = -45 -5 -50
® BB
A/N—F 16 B/\—k 141
z REJILE = ] E H A
HRIA | oo | = IFA
35 20 x & B
=I5 A
— (& =
={z |BIFFRS:A SiERS-A
Rk C/IIF Tk DIIIV K
LERAB Al FFB it |z HMAB Al FFB &t |G
=8R8 e| 4w 30 70 = | = 35 8 43
B % 15 5 20 1 B % 35 70 105 | 5
= 25 25 50 = 0 -62 -62
=GB fERAB | IEfz =B HFB | IEf
HME|[&]| 35 15 50 LR | = 15 15 30
B % 35 40 75 3 B % 40 40 80 | 4
= 0 -25 -25 = -25 -25 -50
=IEB =B Bt |MBfE
BIRFF| & 70 5 75
B | % 0 30 30 | 9
= 70 -25 45




